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ESEGUI LE OPERAZIONI POI RIPORTA IL RISULTATO SUIL PUNTINI

38621 + 10,35 = 724 - 325,83 =

36,05 + 2326 + 3,04 = 1627 - 325,6 =

8312 + 0,16 + 4,063 = 910 - 484 =

5506 +4,28 +2,6 = 7246 — 38,46 =
7658,9 + 1376,78 = 5687,97 — 674,967 =
5478,5 + 90745,82 = 6070,9 — 879,56 =

673,98 + 7835,089 = 20053,67 — 879,5 =
XXX I ITIXIIITIIIIIIIXIXIXX

45293,76:9,3 =.......... B ssuss
483 x 6,7 = 67302,67 :4,7 = ............ L
316 x 2,6 = 25874,58 1 6.9 = cvevvvini F
4563,875:6,3=............ Foss
45624: 86 = ............... r...
34986,67:26 = ............ r....
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